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1. 1im(1+£) =7 [10 points]
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2. —2¥ =9 [20 points
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3. | L =9 [20 points]
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4. For the initial value problem y'(¢f)=~y+3¢ and »(0)=4, find the Euler approximation

to the solution on the interval [0, %] using n=3 segments. Show the approximation to the

3 .
-solution at x = 3 [10 points]

50
1+0.010%°

dollars and @ is the quantity demand per month.

5. The demand function is given by P = 0<(0 <20, where P isthe unitprice in

(1) Find the consumers’ surplus using the Trapezoidal Rule with n=8 if the market price is
$25. [10 points]

(2) Find the consumers’ surplus using the Simpson’s Rule with n=8 if the market price is
$25. [10 points]

BHYEEE




liiﬂb?ﬁ" ¥ &g 101 ﬁ*‘ﬁf”ﬁmﬁﬁzﬁiﬂi%‘ N v ]

B AIE I ERH 8 MEL % 92 HHOoEOHE

6. Let W(r) be the amount in a fund earning interest at the annual rate of , compounded

continuously. A continuous cash flow of 4r dollars per year is distributed to the fund,
where ¢ is the time in years. The rate of change of W is given by W'(t) = Ai +rW ,
where W =0 when ¢=0. Solve this differential equation for #(f) as a function of f.

[10 points]

7. Based on the logistic growth model, the relative rate of growth 1s modeled as follows;
£
£(0) |

called the carrying capacity. Solve the differential equation for g() as a function of ¢.
[10 points]

=k(L—g(t)), where k>0 is the constant of propomonahty, O<g<L and L is




